








a) Profit, 5.76

b) Loss, 12

c) Profit, 12

d) Loss, 5.76

A man sells two articles for Rs. 620 each, one at a profit of 24% and the 

other at a loss of 24%. What is his loss/profit per cent in the whole 

transaction ?

एक व्यक्ति दो वस्तुए ँप्रत्येक को 620 रुपये में, एक को 24% के लाभ पर और दूसरे को 

24% की हाक्ति पर बेचता है। पूरे लेिदेि में उसकी हाक्ति/लाभ प्रक्ततशत क्या है ?



a) 2 : 4 : 7

b) 4 : 2 : 7

c) 2 : 7 : 4

d) 4 : 7 : 2

If 7A = 4B = 14C, then what is A : B : C ?

यक्तद 7A = 4B = 14C है, तो A : B : C क्या है?



a) 3.5

b) 11.6

c) 9.5

d) 15.2

A bicycle wheel has a radius of 42 cm. It makes 40 revolutions in 25 

seconds. What is its speed (in km/h, up to one decimal place)?

एक साइक्तकल के पक्तहये की क्तिज्या 42 सेमी है। यह 25 सेकें ड में 40 चक्कर लगाती है। 

इसकी गक्तत (क्तकमी/घंटा में, एक दशमलव स्थाि तक) क्या है?



a) 193

b) 194

c) 190

d) 195

A kite is flying at a height of 138 m above the ground. It is attached to a 

string inclined at 45° to the horizontal. What is the approximate length 

(in m) of the string?

एक पतंग जमीि से 138 मीटर की ऊँचाई पर उड़ रही है। यह कै्षक्ततज से 45° झुकी हुए 

डोरी से जुड़ी है। डोरी की अिुमाक्तित लंबाई (मीटर में) क्या है?



a) 44

b) 90

c) 94

d) 50

If (x+ 
𝟐

𝒙
) =7, 

then what is the value of (माि क्या है?)      (2x2+ 
𝟖

𝒙 𝟐) ?



a) 20

b) 28

c) 35

d) 25

The perimeter of an isosceles triangle is 91 cm and its base is 1 1/4 times 

each of its equal sides. What is the length (in cm) of its base?

एक समक्तिबाहु क्तिभुज का पररमाप 91 सेमी है और इसका आधार इसकी प्रत्येक समाि 

भुजा का 1 1/4 गुिा है। इसके आधार की लंबाई (सेमी में) क्या है?



a) 17

b) 23

c) 2

d) 20

The expenditure on food is 35% of the income of a particular family. If 

the income is raised by 30%, then how much percentage (to the nearest 

whole number) of food expenditure is less than the initial percentage to 

keep the food expenditure unchanged?

एक क्तवशेष पररवार का भोजि पर व्यय आय का 35% है। यक्तद आय में 30% की वकृ्ति 

की जाती है, तो भोजि पर व्यय का क्तकतिा प्रक्ततशत (क्तिकटतम पूर्ण संख्या में) भोजि 

पर व्यय को अपररवक्ततणत रखिे के क्तलए प्रारंक्तभक प्रक्ततशत से कम है?



a) 25

b) 12

c) 10

d) 14

A solid metallic right circular cylinder has diameter 32 cm and height 9 

cm. It is melted and recast into a solid sphere. What is the radius (in cm) 

of the sphere?

एक ठोस धाक्तत्वक लम्ब वतृ्तीय बेलि का व्यास 32 सेमी और ऊँचाई 9 सेमी है। इसे 

क्तपघलाकर एक ठोस गोले में ढाला जाता है। गोले की क्तिज्या (सेमी में) क्या है?



a) 3

b) 4

c) 6

d) 5

In how many years, will 5,450 amount to 8,175, if invested at simple 

interest at the rate of 12.5% per annum? 

यक्तद 5,450 को 12.5% प्रक्तत वषण की दर से साधारर् ब्याज पर क्तिवेश क्तकया जाता है तो 

क्तकतिे वषों में यह 8,175 हो जाएगा?



a) 45%

b) 44%

c) 43%

d) 52%

What is a single discount (to the nearest whole number) equivalent to the 

successive discounts of 10%, 17% and 25% ?

10%, 17% और 25% की क्रक्तमक छूट के बराबर एक एकल छूट (क्तिकटतम पूर्ण 

संख्या तक) क्या है?



a) 60

b) 72

c) 56

d) 50

A certain number of persons can complete a work in 54 days. If there 

were 15 persons less, it would take 18 days more for the work to be 

completed. Initially, the number persons is:

एक क्तिक्तित संख्या में व्यक्ति एक काम को 54 क्तदिों में पूरा कर सकते हैं। यक्तद यहाँ 15

व्यक्ति कम होते, तो काम पूरा करिे में 18 अक्ततररि क्तदि लगते हैं। प्रारंभ में, व्यक्तियों की 

संख्या है:



a) 4 hours 40 minutes

b) 5 hours 20 minutes

c) 5 hours 45 minutes

d) 6 hours 10 minutes

A person rows upstream a distance of 55 km in 5 hours and rows 

downstream a distance of 75 km in 3 hours. How much time will he take 

to row a distance of 96 km in still water?

एक व्यक्ति धारा के प्रक्ततकूल 55 क्तकमी की दूरी 5 घंटे में तय करता है और धारा के 

अिुकूल 75 क्तकमी की दूरी 3 घंटे में तय करता है। क्तस्थर पािी में 96 क्तकमी की दूरी तय 

करिे में वह क्तकतिा समय लेगा?



a) 12 ∶ 15 ∶ 20 

b) 15 ∶ 12 ∶ 20

c) 20 ∶ 15 ∶ 12

d) 15 ∶ 20 ∶ 12

If the ratio of A : B is 5 ∶ 4 and B ∶ C is 3 ∶ 5 then the ration of A ∶ B ∶ C 

is : 

यक्तद A : B का अिुपात 5 ∶ 4 और B ∶ C का अिुपात 3 ∶ 5 है तो A ∶ B ∶ C का 

अिुपात है:



a) 2776408

b) 2776400

c) 2767416

d) 2767440

Which of the following is divisible by 88? 

क्तिम्ि में से कौि 88 से क्तवभाज्य है? 




